el [GeV]]

=
o
N

r
T

(1/Njet)dN/dp

Ratio to ATLAS

=
o

0.5

7000 GeV

|'|'p|p'

| Soflt

Relative P, (track jets)

B ATLAS
—A— Pythia 6.427 370

---0-- Pythia 6.427 atlas-csc

- %-- Pythia 6.427 d6t

Pythia 6.427 default

---¥-- Pythia 6.427 dw
—6— Pythia 6.427 p0

QCD

mcplots.cern.ch [arXiv:1306.3436]

N gy yany =
P _ - - = WRENE 1/ =1 A/
®, - QORI /L A |0\ I T
X v ;{‘EA T INGAN /A 4

¢ ------4

~

—
e
N
o
> 3
3, - -
>
S e

3 \& A == R 250D
SEAGARY T QORI L
— MNS = V) 5 & ‘ —]
A ?0 T Toxe (o L
/N " 1 ) AN , \ 1
T\ ! ! 1 Wy +v \ ’ —
/T\ ), L ‘.x. , T @D [ v, | ,
O | S A SN :
— p - 1 A 1 —
1 Inl U & / \ \ \ S
! y! ® W, A 0 \ ' “ 1
- (f) \ 1 - ! —
AY 1 1 ~ U
| N // A \\ ~ \
1 () \ I’l‘\ I'
— \ —
N Q8 \ ‘\, AN
1 & \ N
| Q \ A | /\\
1
| 1 1 1 1 | L 1 L AT S 3 X 1 ; 1 : 1 |

3
Charged Particle |6Tel [GeV]

Rivet 3.1.10, = 300k events

N

0.5



	Contents
	Page 1


